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Divisione di un numero intero

Nome:

Risolvi ogni operazione.
1) 80:2=

3) 32:9=

5) 65:7=

7) 64:2=

9) 49:2=

11) 98:2=

2) 56:2=

4) 72:2=

6) 86:2=

8) 26:5=

10) 55:6=

12) 46:2=

Risposte

10.

11.

12.
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Divisione di un numero intero Nome: Soluzioni
Risolvi ogni operazione. Risposte
1) 80:2= 40 2) 56: 28
1 40
). 28
3. 3r5
3) 32:9= 315 4) 72: 36 4 36
5. 9r2
6 43
5) 65:7= 912 6) 86: 43 7. 32
3. 5ri1
9 24 rl
10. 9rl
7) 64:2= 32 8) 26: 5rl
. 49
12. 23
9) 49:2= 24rl 10) 55: 9rl
11) 98:2= 49 12) 46: 23
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